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Cluster: 0189 ptr; resid: 0.30; r/c: 29/81

x.range

upstream meme PSSM #1; e=6.3e+03

1 3 5 7 9 111 3 5 7 9

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=1e+04

1 3 5 7 9 11 13 151 3 5 7 9 11 13

●

●

●

●
●

●

●

●

●

●

●

●

●

● ●

●

●
●

●

●●

●

●

●

●

●

●

●

●

35158

36981

10902

11431
18473

31772

33318

34600

34756

41348

42523

42543

42552

42569 43040

43917

44438
45016

45663

4581645959

45993

46010

46212

49867

54343

7136

7660

9947

string −500 −400 −300 −200 −100 −1
11431NA
31772−0.15
35158−0.16
36981−0.26
44438−0.29
43040−0.42
34600−0.50
54343−0.61
49867−0.69
45663−0.72
42569−0.83
42543−1.06
46010−1.27
18473−1.29
42552−1.30

9947−1.30
45816−1.36
33318−1.54
45016−1.57

7660−1.70
10902−1.95
41348−2.61
45993−2.88

7136−4.26
45959−4.80
43917−5.22
42523−5.33
46212−5.67
34756−5.98

log10(P) upstream meme1 2 log10(P.clust)=−1.99; 29 seqs; 29 uniq
c(0.5, 2.5)
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